Secondary Math IlI

Assignment 9.4 (Review) Key

l.a f 1(x)=e* 6. a.
b. f71(x) =Inx I_xl ;L %
c. f71(x) = 10* o 11 (i 1o ]
d. f71(x) = log, x 2] v oo
2. a. flip over x-axis
b. flip over y-axis Domain: (0, o)
c.downl Range: R \
d. right 1 VA:x =0
3.a.x=0
b.x=1 b. Transformations: flip over x-axis, right 1, up 3
c.x=-2 !
4a.z Domain: (1, o) ‘k}
b. W Range: R
c.Y VA x =1 ‘l
d. X 1
5.a.-1.127 c. Transformations: flip over y-axis, up .
b. 0.833
c.1.041
d. 1.398 Domain: (—o0,0)
Range: R
VA:x =0
7.a.log,8=3 10. a. -3
b.log,1=0 b.3
c.logi116 = -2 c.2
"1 d.-1
d. log6g =-1 61
e.log1 64 = -3 £1
4 1
d.logi,55 = % ﬁgz
8.a.x>-2 11. a.
b. R 3 Domain: R X [Y
cx< > Range: (0, ) 61 5|4I'
dx>0 y-int.: (0,1) |
e.x<0 HA:y =0 2 11k
f.x>0 Exp. Growth
9. a. 25% -5 b. Transformations: flip over y-axis, down 1
b. 102 =100 Domain: R 2
1 _1 Range: (—1, o) s
c.4 4 y-int.: (0,0) ;
d.1_4=81 HA:y = —1 e
3 SR IS
e.e® =1 Exp. Decay gt}u_ui
£1072 = —




c. Transformations: flip over x-axis, right 1, up 2

Domain: R 4

Range: (—,2) e i o
y—int.: (0'1.5) £ 5 4 32 "4 1I\2 3 4 56
HA:y =2

Exp. Neither

bubolod




